Finding equations of lines worksheet

Find the equations of each of the following lines.

(1) Find the slope intercept form of the line through (0,23)
and (-1, 17).

(2) Find the slope intercept form of the line through (-5, 3)
which is perpendicular to the vertical line passing through
(0,-1).

(3) Find the slope intercept form of the line through (—3,17)
and with slope 1.

=)

(4) Find the slope intercept form of the line through (-2, =

which is perpendicular to the line y = f_%sx + 5.

(5) Find the slope intercept form of the line through (2, —18)
which is parallel to the line y = 10.

(6) Find the slope intercept form of the line through (4, 14)
and with slope 0.

(7) Find the slope intercept form of the line through (0, 2) and

(8) Find the slope intercept form of the line through (—5,0)
and (0, 10).

(9) Find the slope intercept form of the line through (-2, —7)
and with slope 0.

(10) Find the slope intercept form of the line through (3, —26)
which is parallel to the line y = —12z + —7.

(11) Find the slope intercept form of the line through (1,16)
and (3,16).

(12) Find the slope intercept form of the line through (2, —12)
which is perpendicular to the line y = —%236 + —17.

(13) Find the slope intercept form of the line through (3,9) and
with slope 0.

(14) Find the slope intercept form of the line through (—5,4)
which is perpendicular to the line y = —}196 + 16.

(15) Find the slope intercept form of the line through (2,20)
which is perpendicular to the line y = —2x + 1.

(16) Find the slope intercept form of the line through (4, =3%)
which is perpendicular to the line y = —%x + 5.

(17) Find the slope intercept form of the line through (-1, 5)
which is parallel to the line y = %sx + —8.

(18) Find the slope intercept form of the line through (—3, =27)
and with slope %.

(19) Find the slope intercept form of the line through (—3, —14)
which is perpendicular to the line y = f}lx + —19.

(20) Find the slope intercept form of the line through (—4,24)
which is perpendicular to the line y = —%350 + 12.
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(21) Find the slope intercept form of the line through (—2, 12)
and with slope %1

(22) Find the slope intercept form of the line through (-1, 52)
and with slope g

(23) Find the slope intercept form of the line through (—4, %)
which is parallel to the line y = _?633 + 14.

(24) Find the slope intercept form of the line through (4,42)
and (0,18).

(25) Find the slope intercept form of the line through (2,17)
and with slope —1.

(26) Find the slope intercept form of the line through (4, 20)
which is parallel to the line y = 12.

(27) Find the slope intercept form of the line through (1,2%)
which is parallel to the line y = %x + 13.

(28) Find the slope intercept form of the line through (—1, 5)
which is parallel to the line y = %x + —10.

(29) Find the slope intercept form of the line through (—4, 18)
which is parallel to the line y = —3x + 4.

(30) Find the slope intercept form of the line through (3, 6) and
with slope —4.

(31) Find the slope intercept form of the line through (—3, —26)
which is parallel to the line y = x + 0.

(32) Find the slope intercept form of the line through (-2, —21)
and with slope 0.

(33) Find the slope intercept form of the line through (—1,24)
and with slope —2.

(34) Find the slope intercept form of the line through (-2, —2)
and with slope %

(35) Find the slope intercept form of the line through (3,21)
which is parallel to the line y = 2.

(36) Find the slope intercept form of the line through (-1, 47)
which is parallel to the line y = _7590 + 19.

(37) Find the slope intercept form of the line through (—1, 52)
which is parallel to the line y = _7133 + —12.

(38) Find the slope intercept form of the line through (3, =22)

and (-3, =2).

(39) Find the slope intercept form of the line through (2, %)
and (-2, 42).

(40) Find the slope intercept form of the line through (1,13)
which is perpendicular to the vertical line passing through
(2,3).
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Solutions:

(31) y =1z — 23.

%x+2.
T — 2.

(21) y

16.

(11) y

(1) y= Z2a+23.

(32) y = —21.
(33) y

5
2

(22) y=

—2x — 8.

(12) y

—2r + 22.

(23) y = ZPx +15.
(24) y = 6z + 18.

(25) y

(13) y=9.

(3) y = 1z + 20.

(4) y=La—0.

T+ 1.

3
2

(34) y=

(14) y= -1z —1.

(15) y =

(35) y = 21.

—1x + 19.
20.

z + 19.

1
2

(5) y=—18.

T + 14.

-5
3

=1
3

(36) y

(26) y

x — 15.

-5
6

(16) y =

(6) y=14.
(M) y=

x+ 17.
xr — 19.

T + 23.

(B87) y=

x + 8.

2
3

(27) y=

(17) y=FPo —4.

T+ 2.

3
2

1
5

(38) y=

x— 1.

3
4

(28) y=

(18) y =2z —3.

(19) y

(8) y =2z + 10.

3
4

(39) y=

—3x + 6.
—4x + 18.

(29) y

—lz —17.

=3

(40) y = 13.

(30) y

x + 18.

2

(20) y

—1lz — 23.

(10) y
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